
(1) (3) 

瓜

团

回 四

回

(i),, (,),, ， (i)., 四 ©x2 0x6 
0-lxl 

0-2x2 

a. 
M6x40 

®-3x1 ＠x40®" (,),, @)x4 @x4 @x2 

咕 们 ©==> ' 髦ST3.7x13 M12x45 中12
@)-1x2 

@-2x2

忑
@)

I I I M10x80 

@xi @xi @x2 @)x2 

回

舌
a 

@x1 酶）xl @)x3 
@-1x1 

三豆三〉已
色）-2x1 

@)-3x1 1x

01 02 

M10

®-4x1 

@-3xl 

@)-4x1 

OP70564 14x2
15x4

OP70563 14x3
15x6

xi 2625

OP70564

忑

x2

x3

OP70563



03 04 

13 -2

4

12

12

7

7

13 -1 13 -3 13 -4 13 -1

6 -1 6 -2 6 -3 6 -2 6 -4

1

A

2

3

3

4

5

31 8 9

(4)

(5)
10

23

5

21

22

6

7

8

9

11 16

2

17 11 10

 42 -1  42 -2  42 -3  42 -2  42 -4

4mx2.5m  L=550mm
3.6mx3m  L=120mm

  2 5 18

B C E FD



05 06 

10

11
L/2(3420+100)/384

A

C

L

1(6)

2

2

3

19

18

OP70564 
x2

OP70563 
x3



07 

4

5



Im User manual

1 General warnings 

Read all the instructions and warnings carefully before using 
this product. Failure to follow warnings and instructions can 
result in severe injury, death, or property damage. Before 
installation, check if all accessories are complete and without 
damage. If not, contact customer service. Keep these 
instructions in a safe place for future reference. Use this 
product with its original parts only. Repairs should only be 
carried out by a specialist or a professional and experienced 
technician. Never attempt to repair the product yourself. 

2 Warnings and personal safety 

• The operating instructions should be read before using the 
product. 

See image 1 

心 Warning
• Before opening awning, be sure all brackets are mounted 

securely into wall studs and all bolts are properly tightened 
ALWAYS CLOSE the awning during high or gosling winds, 
rain and when not in use. Failure to do so may result 
personal injury and/or property damage, Also, Extension 
arms are under high tension and can cause serious damage 
or injury. Never attempt to repair or disassemble. 

• DO NOT remove the rope which is used to fasten the arm 
for transport. This rope can only be removed after all the 
assembly steps are finished and all bolts are fastened and 
the item is attached to the wall. Failure to do so may result 
in personal injury and/or property damage. 

• Important safety instructions. It is important for the safety 
of persons to follow these Instructions, since incorrect 
installation can lead to severe injury. Save these 
instructions. 

• Warning: The fabric should not be sunken during operation, 
otherwise, water will accumulate on it. 

• This product requires at least 3 adults to assemble. 

�Warning 
See image 2 

三C Jack bolt 勹D Fabric 

Check if the awning is level with the spring level (25) on the 
front bar. Adjust the angle adjuster at either end by loosening 

the locking nuts of the angle adjuster and turning the jack bolt 
to adjust the pitch. Adjust the arm until the front profile is level. 
Tighten the locking nuts again to fix awning at this level. To 
adjust the inclination of the awning, adjust the angle adjuster 
on both arm shoulders to achieve the desired incline. Fix the 
locking nuts when the awning is level. 
• Warning: When the front bar touches the end cap as shown 

in the image, do not try to bring them closer. Otherwise, 
the product may be damaged. 

• This appliance is not intended for use by persons (including 
children) with reduced physical, sensory or mental 
capab仆ities, or lack of experience and knowledge, unless 
they have been given supervision or instructions concerning 
use of the appliance by a person responsible for their 
safety. 

• Children should be supervised to ensure that they do not 
play with the appliance. 

• Frequently examine the installation for imbalance and signs 
of wear or damage to springs. 

• Do not use if repair or adjustment is necessary. 
• Do not operate the awning during maintenance, such as 

window cleaning, is being carried out in the vicinity. 
• Install the actuating member of a manual release at a 

height less than 1.8m 
• Operation in frosty conditions may damage the awning. 
• Never install it in high and windy places, as the sunshade 

may drop and hurt people. 
• Don't use it in places that have vibrations or impulsions. 
• Don't use it in places of high temperature such as walls near 

furnaces. 
• Don't put heavy stuff on the frame as it may fall down and 

cause damages. 
• Never use it for other purposes 
• Be careful with your fingers during installation. 
• Please use all the screws and nuts correctly during 

installation as it is very dangerous if you leave them loose 
• Please close the sunshade on windy and rainy days. 
• Be careful during installation, crushing and shearing risks 

may exist. 
• Do not modify the product to avoid potential dangers. 
• Always close the awning when not in use. 
• Please do not unpick and wash the fabric. If you need 

to replace the fabric, please turn to the experts for help. 
• Check the overall installation especially at the beginning of 

a new season. Ensure that the fasteners are tightened and 

08 

in good condition. 
• Retract the awning in case of rain if the slope is not in the 

range of the value recommended in the instruction. 
• The awning shall be retracted in case the wind speed 1s 

higher than 28km/h. 
• The maximum load for the non-retractable parts of

the awning is 800Pa. 
• The instructions for use should be provided to the end user. 

3 Part List 

See image 3 

尸uction

Please prepare the following tools before the installation: 
See image 4 

A I Power drill with drilling bit of I B I Tape measure 
但2mm,砍5mm

C 
I 

Wrench M6, MS, M12 I D I Screwdriver 

E Socket wrench (13mm) 

4 Installation instructions 

See image 5 

A I through from 

C I insert into 

E I Ground 

B I Through the fabric into roller 
and front bar 

�F Open 

5 Maintenance and cleaning 

• Check to make sure that the awning is fixed tightly and 
securely before cleaning. 

• Clean the metal surfaces of the awning with a slightly damp 
cloth. 

• Clean the wall mount base with a slightly damp cloth. 
• Wipe off debris from the fabric cover using a dry, soft cloth. 
• Do not use any abrasive cleansers like chemicals, benzene, 

or alcohol. 
• Do not roll up the awning when wet. 
• Let the fabric cover dry naturally when it is wet. 

09

F     Scissors




